6—2 REMEERLUER

Hi(RE8E:TH)

g w g = B ) % w8 =B EEALSEEE EEMITRYRHILEERE
# & |5 =2
R O30 # E 1,026,480 1,026,480 -
4 M T & B 2,077,643 2,077,643 -
= o 2 F E3 2,300,637 2,300,637 -
« o 3 F £ 2,314,674 2,314,674 -
f M 4 £ & 2,395,735 2,395,735 -
1= 1= -
&5 &5 -
R K& -
R R -
REAREED " -
RHEE X5 -
X9 " -
=L E = -
wEE IR 5 " -
=& " -
(#BI) " -
I EIER " -
A3 ERE -
BRE " 1,237,816 1,237,816
PN " -
BAS " -
it ek -
FNG] X 1,157,919 1,157,919
B RIFEB 1= - - -
&8 - - -
R - - _
R 1,157,919 1,157,919 -
X5 - - -
= - - -
R 1,237,816 1,237,816 -
et - - -

1 ARG REMEEALERRERSEICRVERLE,

2 KRICIKX.FERBEEIBLL:,




